
Answer on Question #73056 – Math – Statistics and Probability 

 

Question 

    If you randomly drew a card from a standard deck of cards, you will get a card 

that is either red (𝑅) or black (𝐵). The card will also either be a number card (𝑁) 

or a face card (𝐹). Determine the 𝑛(𝐵 ∧ 𝑁).  
 

Solution 

    In a standard deck of 52 playing cards, there are four suits: clubs (♣), diamonds 

(♦), hearts (♥) and spades (♠). Each suit has one Jack, Queen, and King as the face 

cards. 

    So there are 10 number cards in each suit. Two suits are red and two suits are 

black. 

    Total number of black number cards is 

𝑛(𝐵 ∧ 𝑁) = 𝑛(𝐵 and 𝑁) = 𝑛(𝐵 ∩ 𝑁) = 2 × 10 = 20 

𝐀𝐧𝐬𝐰𝐞𝐫: 𝑛(𝐵 ∧ 𝑁) = 20. 
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